1./58

FEFHETETAAAQZRX
FRERERAOGIEAZEHZED) %*D4£E5H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 298 348 394 742
AER1TH 1,036 1,149 1,255 2,404
mAET2TH 1,194 1,005 1,363 2,368
A R T 2,309 2,321 2577 4,898
BERT1TH 592 576 621 1,197
B ERT2TH 407 410 445 855
B ERI3TH 314 363 325 688
BEBRT4TH 536 482 526 1,008
B ERSTH 816 885 887 1,772
I ER6TH 373 388 416 804
HiF = HT 541 584 627 1,211
45 KHT 508 573 601 1174
HHT 998 1,083 1,203 2,286
BEHT 51 53 57 110
A K BT 624 703 732 1,435
7 HT 434 435 458 893
RICET 452 479 526 1,005
FORHET 197 187 221 408
RFHT 207 202 234 436
KHET 359 332 372 704
KET1TH 233 234 281 515
XKET3TH 292 338 328 666
XETATH 867 808 998 1,806
fit] LLI BT 2,444 2,762 2,899 5,661
JE LT 989 1,100 1,205 2,305
EHERT2TH 309 445 438 883
EHERISTH 431 532 531 1,063
EHERT4TH 392 462 491 953
EHERSTH 343 401 463 864
EHERT6TH 215 284 276 560
EAERET7TH 171 255 263 518
=Y:i 337 334 376 710
8 [F T 1,586 1,438 1,655 3,093
=i ET 516 548 628 1,176
2l 3t BT 482 572 559 1,131
N =15 103 114 122 236
+HEFRT A 641 644 712 1,356
L EFHTER 845 751 852 1,603
L HAET 1,984 2,151 2,243 4,394
LFH¥ABT1TH 73 122 114 236
LH¥\ET2TH 160 159 179 338




HEZ HH 5 £ i
LH¥AET3T B 150 150 169 319
LF#ET4TH 166 178 201 379
LFEISTH 214 267 303 570
I == HT 203 207 228 435
JN=FRT1TH 551 532 538 1,070
Jn=FRI2TH 554 524 573 1,097
JO=fET3TH 417 426 406 832
M=rET4T H 1,090 1,081 1,107 2,188
I S5k T 585 591 658 1,249
I=F5di) 227 209 252 461
1t Bz BT 29 36 37 73
B[] 403 357 346 703
fHZaE T 823 931 983 1,914
FHRHET 83 80 95 175
1 2 FF T 344 389 416 805
BEFE1TH 95 119 128 247
BEFE2TH 276 308 326 634
T EHT 130 139 141 280
/N BB T 3,106 3,078 3,293 6,371
1R T 254 279 208 577
YEZF HT 749 741 790 1,531
EXBI1TH 271 253 269 522
=4 ILHT 216 159 125 284
Hh ek HT 23 24 4 28
Tt AT 11 16 12 28
THHEE1TH 723 646 688 1,334
THHEE2TH 529 553 546 1,099
THHEESTH 866 890 1,015 1,905
TEHE1TH 182 179 174 353
TEHRI2TH 810 752 861 1,613
TEHRISTH 167 178 187 365
TEHRI4ATH 98 109 123 232
TEHRISTH 214 234 238 472
T HAET 573 604 640 1,244
TET1TH 354 347 357 704
THET2 T H 463 430 491 921
TH#RBI3TH 203 197 226 423
THABTATH 155 147 181 328
TH#RBI5TH 158 172 199 371
HAHT 17 16 8 24
T 184 196 182 378
#8)11 BT 46 47 53 100
KTIHT 295 310 342 652
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HEZ HH 5 £ i

7B KHT 1,657 1,646 1,805 3,451
FSIED 266 321 306 627
XLAT1TH 838 739 905 1,644
X#ILET2TH 313 344 362 706
X#ILET3TH 154 153 168 321
1 [ BT 45 64 72 136
hHET1TH 391 425 406 831
hHET2TH 462 469 514 983
hHBEI3TH 451 515 506 1,021
aiEld:) 251 229 276 505
th 2 JEHT 219 206 228 434
ch T 133 124 162 286
TR AHT 765 858 860 1,718
At FAET 876 869 1,008 1,877
75 K ERET 769 938 993 1,931
75 2 [N HET 1,663 1,811 1,943 3,754
JAHT 891 851 947 1,798
$FHET1TH 525 463 504 967
$FHET2T H 393 387 430 817
¥FHETST B 200 209 227 436
T 166 212 214 426
HET1 T B 391 479 507 986
HET2 T B 350 365 405 770
HET3 T B 357 394 440 834
HET4 T B 125 119 153 272
AN ) 979 1,048 1,103 2,151
J\ EHHT 157 191 189 380
+ A ERT 247 279 312 591
T A HT 1,605 1,584 1,797 3,381
THB1TH 22 20 19 39
T4HB2TH 1,462 1,345 1,350 2,695
T4HBI3TH 185 171 158 329
T4RBI4TH 375 311 371 682
THBI5TH 929 640 917 1,657
T4HBI6TH 616 589 639 1,228
THRI7TH 352 369 416 785
T4HBISTH 378 393 416 809
THBIOTH 403 450 507 957
T4BI12TH 238 262 260 522
T+4R13TH 318 350 388 738
AR NBHT 1,945 1,678 1,947 3,625
HARRHET 1,358 1,222 1,183 2,405
H AR KR ET 296 370 382 752
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HEZ HH 5 = 5
E AR ERT 166 172 180 352
EHARKXEHET 139 121 142 263
FH AR hHT 202 225 265 490
FHARAKHET 446 468 503 971
& AR ElT 323 338 376 714
EHARE)IIHET 282 261 296 557
=N ] 116 121 137 258
FH AR JTHT 102 96 111 207
EARERHE 664 564 650 1,214
B K R HET 395 398 406 804
Edai) 880 882 1,008 1,890
BEFET1TH 753 727 736 1,463
BEFET2TH 593 596 682 1,278
RIS TH 348 407 412 819
AIFTET1TH 421 381 421 802
AIFFRT2T B 592 601 667 1,268
AIFTET3T B 639 725 776 1,501
A HT 186 197 192 389
B LH 248 319 336 655
NER) 796 754 827 1,581
ERL 769 941 939 1,880
= HHT 1,736 1,907 1,996 3,903
HETHRET1TH 582 622 668 1,290
HLIRET2TH 516 592 646 1,238
HLIREISTH 294 374 369 743
P fx T 320 359 392 751
mERI1TH 1,171 1,130 1,264 2,394
mERI2TH 831 942 1,044 1,986
FA T 1,359 1,379 1,551 2,930
= RITET 526 492 543 1,035
= AHT 362 280 339 619
AR#4HT 7 5 4 9
) 497 556 511 1,067
SHET1TH 715 629 776 1,405
S HET2TH 410 443 469 912
aHEI3TH 848 717 882 1,599
S HET4TH 749 617 822 1,439
E& T 1 1 0 1
J\BRET1TH 207 247 263 510
J\BRET2T B 228 227 239 466
J\BRET3T H 244 301 307 608
1T HT 300 423 A11 834
FHRIBRT1 T H 168 199 208 407
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HEZ HH 5 £ 5
FIEIET2 T B 302 432 461 893
FIEIET3 T B 109 180 173 353
EOER1TH 88 140 137 277
FEOER2TH 0 0 0 0
FENDERITH 20 18 2 20

wEE 88,832 | 91,061 98,896 | 189,957
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